Assignment
Simplify each expression.

7r* —67r—30 21r° + 65r + 24

1) + =
3r+6 or° +42r + 48
3 40X —24  49x*> — 14x — 63
70x> — 90X 35x> + 14x — 21
5) W+6 6V +27V+27
8  27v+8l
7 35x—5 70x> + 80x>
x> + 41X -6 35X + 40
0) 9k? — 24k 8k + 40
3k? +7k—40 6k% +30k
49n —28  14n% —43n+20
11) - il
5 12n - 30
2m? +7m—15 8m-—40
13) . -
10m” — 15m 2m - 10
70%% + 50X 70x* + 50X
15) +
6 6X — 54
18b-6
17) 27b+81)  —5——
9b% +24b -9
5% —7 25%% + 15x — 70
19) — 2 2
ox” + 27X 5x°+5x-10

on*-8Iln 2

21) :
18n-30  6n-10

LT wsgsgs ath-vsorlsheel ory

ID: 1

Name
Date Period
2 3n-35n+72  3n’+5n-2
3n—8 " 3n’-13n+4
3a 18a—-9
4) :

3a2+2la  9-—17a-2a>

6 7X* —22x+16  3x+38
14x—16  27x° + 72x>
8 7a®> - 25a-12

8)

56a+24 a’+8a+l15

4p+4 27p+72

10
) 2p+2 18p+48

10 15x + 30
50x+ 100 7x+ 35

12)

7r? — 42r

14) ——————
) 3512 + 14r

(40r + 16)

16n+24 4n+ 18
aNn+6 2n+9

16)

21v2—8v—-5 v+1
V2 —68v+45 9v+3

18)

7 8a+ 12
4a—-16 12a+ 18

20)

10k>  k*+9k+8
30k* + 50k> 15k + 25

22)

math-worksheet.org



18x—90 30x+ 10 20) 14x3 + 12x> 15X — 6
3x+1  20x—100 7X + 6 10x° — 4x?

23)

LT wsgsgs ath-vsorlsheel ory
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1) r-10

5)

9

k+5

4(m +5)
5m

17) 54

13)

21)

'ﬂ@ B
%f wsgsgs ath-vsorlsheel ory

3n(n-9)

Answers to Assignment (ID:

(hn-4)(n-9)
n+2
9x*(x — 2)
2

2)

6)

10) 3

14) 8(r-6)
v+1

3(v—9)
5

18)

22)

(k+1)(k + 8)

4
3_
)5X

10x?

X+ 6

42
11) —=
5

7)

15) x-9

X—1

9x*(x +3)

23) 9

1)

9+a
—9(a + 7)
a4
(a+3)a+5s)
3
12) 7(x + 5)
16) 8

4)

8)

7
20) 6(a—4)

24) 3
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Assignment
Simplify each expression.

9p-27  9p-3
18p%—54p 12p*-4p

1)

—49%% +91x — 36
TX—-9

3x—-12

3 .
) 28x2% — 16X

4n 2n®2+17n-8
8n? —4n 7n — 56

5)

2512 4+ 20r
63r—9

Tr—-1

7 .
) 50r + 40r

28x+ 12 21Xx+9
2x2 —13x+15  6Xx-9

9)

35x—21 —2x>+15x—28

11) . 3
TX+35 10x° —41x+21

9v+63_ 5v+10
9v—72  50v+100

13)

15p* =36p+12 7p*+25p+12

15) 3
15p—-30 35p°+6p—38

5%2 +3x -2 ' 6x> + 20x>
35%x2 —39x+ 10 21x> +55x — 50

17)

5x* —26X— 63 25x° + 20X — 45

19) = P
7% +59x+70 352+ 15% - 50

21x> +5x -6
49%% — 21x

7x2 + 56X
30x%2 + 20x

21)

LT wsgsgs ath-vsorlsheel ory

2)

4)

6)

8)

10)

12)

14)

16)

18)

20)

22)

ID: 2

25n° +40n-9  10n+ 18

15n-=3  2n+12

7b* + 66b —40  7b* + 59b — 36

9b% +36b 9b

18n+6 10n -4

n+l 150 —n-=2

2a°-8a  4a’-6a
2a’+a-3  4a’-9

50a+80 2a+2
30a+48 4a+4

21k-35k> 9k
35k* — 21k  8k> + 72k?

2In* -2n-3 150’ + 1In+2
-3 10n+4

27m - 36 21m + 21
2Im+21 3m?+17m-28

35r+28  15r+12
7 " 8r+64

v—-3 6v—4
6v—4 v -21v?

math-worksheet.org

Name
Date Period
8m + 80 35m> —8m - 16
56m> + 32m? 40m — 32



b’ +9b+ 14 Sn—-6  45n-54

23) (16b% — 40b) . ——— 24 =
) ( ) 16b% — 40b )3n2—13n—56 3n*-n-24

LT wsgsgs ath-vsorlsheel ory
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21
) 10x

Answers to Assignment (ID: 2)

m+ 10
8m?
b+10

2)

) b+ a)b+9)

—4
10) 22
a-1

14) —

9

m+7

1
22) —
) 7v?

18)

LT wsgsgs ath-vsorlsheel ory

8k(k +9)

X—7
X+7
23) (b+2)(b+7)

19)

5
12) 2
i
16) 2

20) 8(r +8)

24)

9(n - 7)
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Assignment
Simplify each expression.

4n—-32 24 -12n
3n—-6 4n+12

1)

3a°-24a+36  18a—36

3 -
) 3a+5 18a° + 30a?

~14p*> +25p-6  p-9
14p2-25p+6  42p

5)

36n*> —12n®  15n% +30n
15n2 —=45n  3n®>-3n-18

7)

52 -3x—-14  5x+5
25x% + 60x +35  21x°

9)

3b 6b%+23b+10
4b+2  27b% +90b?

11)

2r —4r-6

13) (9r +81) - —

15) 2% +14x+20  21x% +79x + 70

212 +79X+70  2X% — 6X =20

35° +32x— 12 7x-2
52 +46X +48  9x+27

17)

35x2+2X—1  6X+60

19) .
S5x+1 42x -6

56x—24  28x— 12
8x—4  2x—1

21)

LT wsgsgs ath-vsorlsheel ory

Name

ID: 3

Date Period

5k3 — 45k? 3 -5k
15k —9k?  5k* +20k>

2)

15 — 15 12x— 12

4) +
21x-49 21x-49

5x2 +29X+20  21x* +21x
21x%> 421X 5x*+14x+8

6)

63m> +9m>  63m’ +9m’

8 =
) 2m? 8m? — 16m

49p —42 7p* - 13p-24
49p* + 14p — 48 Tp—42

10)

8n® +64n*>  9n? +33n+30

12 .
) 12n® +20n%>  24n° +48n?

7a+ 1 ~a’-1la+30
353 +26a+3  20a’+12a

14)

on’—24n+15 9n’ —24n+ 15

16) 5 +
3n“=24n-27 3n“+27n+24

6V + 14 35v2 +57v+ 18
5V +56V+60 21v? +58v+21

18)

4n+20 2n-10

20) +—
2n+10 6n° —6n

50n - 50 12n+6
20n+10 10n?>—10n

22)

math-worksheet.org



5k* +42k—27  15k* =29k + 12 20) 2 40p — 24
24k+16  9k*-6k-38 5p*—-38p+21 8p+56

23)

A dagsgs . mabh-verksheeb.org
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4(n - 38)
n+3
42p
_ﬁ
X—2
21x?
13) (r+1)(r+9)

1) -

5)

9

9(x +3)

17
) X+ 8

1
21) —
)2

Answers to Assignment (I1D: 3)

(k-9)
3Kk + 4)
X+5
X+2
10) P=3
p—-6

2)

6)

14)

2
v+ 10

18)

3
22) =
n

24 gsgsgs mabh-gorhsheeh.ory

A
(a-5)(a-o)

3) a’(a-6)

4n?

7) —
)n—3

1
11) —
)6b

X+5
X—5
19) x+10

15)

k+9

23)

6n(n—1)

) o)

math-worksheet.org



Assignment
Simplify each expression.

8 20r - 32
20r —32  4r+32

1)

3% +24x - 27
12x2 — 12x

S5x+1
25X+ 5

3)

15v+3  5v2+21v+4
3 vi-6v-16

5)

3n® —6n+3
3n? - 12

21n’ - 21n°

7
) 3n+6

18a—12  18a-12
14a—28 14a’ —28a>

9)

7k —49  7k*> =33k — 10

11
) 9 49k + 14

42n* —42n  42n° - 42n°
6n ~2n*-8n

13)

2x° 56X+ 56

15 -
) x> — 42X +35  49x> —49

16 — 8n —3n?
20n—12

20n — 12
15n3 — 20n?

17)

3b% + 18b — 48

19) (15b +15) -
) (1b+ )15b2—15b—30

4r’ +12r-16  2r+8
14r> —34r+20  35r> —50r?

21)

LT wsgsgs ath-vsorlsheel ory

ID: 4

Name
Date Period
2
2) m-—-2m-8 ) 1
28m+28  28m+ 28
6n+ 16 2n - 10
4) :

32 +29n+56 8N

4x — 40 28X + 16
6) — :

7% —24x — 16 4
) 6b>+9b—6  42b-24

21b>+30b-24 10b—5

20p> +40p  5p°-13p-6

10
) 2p+4 I5p+6

49x% + 63x+8  3x> +21x?
21x3 +24x%? 56X + 8x

12)

14m? +5m—-24 5m?-24m-5
10m?>+17m+3  7m? +48m — 64

14)

16) 28p -8 25p° +30p?
35p+32p—-12 5p° —30p?
12x? — 8x 1

18) >+
6 +5x—21x 63X + 27

6n° — 18n? 3n-9

20) —; +
3n"=39n+90 30n-90

16a — 48
10a% — 16a — 42

22) (5a® —23a—-42) -

math-worksheet.org



6X> +20x+16  20x> + 40X 20) 12v-40  12v—40
3x* +34x+40 10X + 50X Vi-8v+15 T v-2

23)

LT wsgsgs ath-vsorlsheel ory
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(4+n)

21) 5r2

@+ﬂ@—@

Answers to Assignment (ID: 4)

2) (m+2)(m-4) 3 X+ 9
20X
4(x - 10) n-—1
L D 2n-2)
p-3 9
m->5 2
) nrs 19 369
18) —36x 19) 3(b+8)
22) 8(a—6) 23 X3
X+ 10

'ﬂ@ B
%f wsgsgs ath-vsorlsheel ory

math-worksheet.org



Assignment
Simplify each expression.

30k® + 48k*> 40k — 64
64 — 25k> 6k>

1)

2p°-7p-30 5p+8
6p>+25p+25 15p> +49p+40

18N+ 9 . 2n+ 1
9n+18  2n+16

5)

2x— 18  14x3 — 6x>

7) .
28x —12 2

28v—32 27v? — 63v?
12v — 28 7v—8

9)

n?+17n+72

11) (21n+12) P

42k —54 6k —48
6 54 — 42k

13)

35a° - 19a—42
a+7

a’+13a+42
35a% - 19a—42

15)

40m? + 56m? 40
5m+7 8m> + 24m?

17)

15x+30 1
36+ 6X—6x>  10x—30

19)

3r’+5r—8  3r+8
6r>—16r  3r*+22r-80

21)

LT wsgsgs ath-vsorlsheel ory

2)

4)

6)

8)

10)

12)

14)

16)

18)

20)

22)

Name

ID: 5

Date

9 10n + 10

50x% — 100x

14n3 +42n2 200 + 60

9x3 — 27x?

1052 + 70X —15%% + 75X — 90

9  2m+14

3513 + 14r?

2Im-3  2Ilm-3

14r% + 18r + 4

14r + 14 3512 +24r+ 4

5%+ 10 5% —30
15x2 + 60X+ 60  15x+30

2b-4  24b® +80b°
6b+2  9b%+33b+ 10

3n°-37n+90 3n-10
45n-9 20n-4

42x% — 36X 25x% —90x + 80
5x—10  35x>— 86X +48

21p*+30p  14p° +63p?
3p>-30p 14p*+83p+90

4n*-4n—8  4n>-8n

6n>—4n—10 12n-20

140> —65n+56  Tn—38
6n>—15n-21 15n+15

math-worksheet.org

Period



5b2-23b+24 8b* —4b? 20) 5%% + 55X + 50 5%+ 1
2b% - 15b+7 20b* —32b° X2 —11x+18  25x> +30X+5

23)

A, dagsgs . mabh-verksheeb.org

math-worksheet.org



1) -8

2(n + 8)
n+2

9) 9v?

13) —(k - 8)

40
m+3

17)

21)

W2l gegsgs math-veerhsheet.oryg

(r—1)(r+10)

Answers to Assignment (ID: 5)

2) — 2

0) 2(m +7)

1
10) ——
) X—06

18)

22) 5

n*(n+1)

3) p-6

x*(x - 9)
2
11) (n+8)(n+9)

7)

15) a+6

19) -25

23)b;3
b-7

3x2
X+7
8) r?

4) -

b-2

12)
16) 6x

2
20) =
n

X+ 10

(x—2)(x-9)

24)

math-worksheet.org



Assignment
Simplify each expression.

70x% — 80X
—49x% + 84x — 32

14x% — 43x + 20
18x3 — 45x%>

1)

14n®> - 10n—4 n+6

3 .
) 60 14n®> - 10n - 4

18x— 18  21x* —45x + 24
6  63x-72

5)

10r®> +28r+18  70r> + 70r

7 .
)35r2+98r+63 10r® + 10r?

10k> — 40k?
10k> + 70k>

_ 7k — 9
T 7K? — 51k + 54

9)

25%x% — 85X + 70

11) (5x® = 30x + 40) +
) ( ) 5% —2x -7

25X+ 25 45x - 18
5x—2  5%x>—20x-25

13)

10r* +26r— 12 14r+42

15 +
) 35r2+31r—18  7r* —12r-27

5V —14v+9
5v-9

5v2 +20v
5v2 + 50v

17)

352’ +14a  S5a’+22a+8

19
) 3a—-5 27a—45

x> -7 2+ 12X+ 16
49%> — 91X +42  14x> + 44X — 48

21)

LT wsgsgs ath-vsorlsheel ory

2)

4)

6)

8)

10)

12)

14)

16)

18)

20)

22)

ID: 6

Name
Date Period
24a—-64  30a-80
3a—8  12a° —32a?

14x — 35 ) TX + 63

16X —40  8X — 56

3v2 —22v—45 6v?—8v

27v? — 36V 3V+5
15p>—45p  10p® -35p
3p2+3p-36  1l4—4p
n—10 15n% + 9n — 24
24 —9n — 15n° 3n®—18n
10n” + 180 —36 250> — 65n + 42
2n+ 6 ' 30n — 42
am? +6m+2  Tm+49
2m?> +19m+9  2m+2
5n+ 10 14n° + 42n?
502 =25n—-70 2n?+10n+12
42b° + 420> 4b’ + 40b°
70b% + 70b 10b
6n—2 3n%-30n+27
6n—-6 6n -2
5 20

30k+60 30k + 60

math-worksheet.org



~14p*> +39p - 10 6p—18 20) 7x-1  9-60x—21x°
4p* - 12p 14p* -39p + 10 5% +50x  3x%+3x-18

23)

A, dagsgs . mabh-verksheeb.org

math-worksheet.org



Answers to Assignment (I1D: 6)

10 16a* n+6 X—7
Do 25 ) 50 D x+o
5) 9 6) 2(v-9) 7 2 8) 2
9 r p+4
) (k- 4)(k—6) 10) - (n—10) 11) (x+1)(x—4) 12) 6
k+7 3n(n - 6)
45 7(m +7) r-3 7n?
13) X—5 14 m+9 1) 7 16) (n—7)(n+2)
17) (v+4)(v—1) 18) 3 19) 63a 20) n-9
v+ 10 2(b + 10) a+4 2
X+ 1 1 3 _(x-2)
2D 2) %) “2p 24) ~sx(x + 10)

2 gagsgs path-wersheeh.ory th-worksheet
. matn-worksheet.org



Assignment
Simplify each expression.

4 10r? — 20r
2r> +16r  40r — 80

1)

45m? — 72m? 5m? +57m+ 70

3) 2 - 2
35m“—-=7Im+24 35m° +34m - 21

4b%> +12b 5b%>-42b+ 16
4b 5b>+8b -4

5)

5n*-3In+6  30n’ - 6n’
5n* +43n-70 ~ 30n° —42n?

7)

2n® 50”7 +42n+49
9n-72  45n+63

9)

20V =50V 7V + 66V +27
VP —1lv—6 20V’ —50v?

11)

15%3 +3x% 7x2 +26x+ 15
30%° + 6x° TX+5

13)

p’—p-42 4p-4
18p>—-18p 2

15)

50n>—10n  6n-—42
n-5 50n% — 10n

17)

21x+6  35%% + 10X
21x+3  7x*—34x-5

19)

6x> — 30%> 12x2 + 4x
30x2 —6x° 3x*-11x—-4

21)

LT wsgsgs ath-vsorlsheel ory

Name

ID: 7

Date Period

3x—2 5x>+28x+15
80 15> - x-6

2)

20 +18n+16 21n*>—=71n+40
14n> +4n - 10 3n-18

4)

21r* —29r— 72 24r — 64

6) -
Tr+9 8r+16
63x> — 18%> 9x> — 18x>
8) 3 2 2
9x° + 63X 21X —48x+ 12
80a —40a’> 56a+ 16
10) +
15a - 30 7a+ 2
2x>+6x—4 6x°> — 24
12) * +—
27% — 18 OX“ + 12x—-12
14) 2k? — 18k +40  35k*> + 36k +9
5k +3 30 + 64k — 14k?
2n +4 2n’> —-6n+4
16) — : 5
2n“ —12n-32  20n“ —40n
9 20m? + 70m
18)

20m% +70m  m2 — 12m + 20

15r2 + 56r + 49
2513 + 35r?

20) (21r +49) +

3b% +28b-20 40b> - 16b?
15> — 16b + 4 10b

22)

math-worksheet.org



5n% + 44n — 60 45n — 45 20) 6V2 — 32V + 40 70v? — 20v
5n-5 5n° = 1In+6 3V2+17v—90 —14v>+32v—8§

23)

A, dagsgs . mabh-verksheeb.org

math-worksheet.org



2(r+—8)

b+2
2n?

13) X+3

6(n-7)
n-5
4x
X—4

17)

21) —

W2l gegsgs math-veerhsheet.oryg

(b-8)(b+3)

(n—8)(n+7)

2)

Answers to Assignment (ID: 7)

X+5
&0

6) r+2

10)
14)

18)

22)

—(k—4)

9

3)
7)

(m—2)(m - 10)
4b(b + 10)
5

9m?

m+ 10
n-o6
n+10
V+9
v-—2

11)

15) 9p
X—5

19)

(p+6)(p-7)

4) n+8

3x°
X+7
—X+1

12)

—1
16) —

20) 35r?

10v

24) —
V+9

10n(n - 8)

math-worksheet.org



Assignment
Simplify each expression.

453> +9a 9a
10a>-43a-9 2a®>—17a+36

1)

12x3 — 42%?
2X -7

21x%> -32x -5

3 .
) 5+32x —21x?

35x + 25 4x + 14
4+ 14 14%° + 10x?

5)

2p° +12p+16  10p+20
42p-54  42p-54

7)

9) 24n” —64n  20n° — 12n°
48-18n 18 -30n
6r+12  =3r’ + 16r —21

11
) 3r—8  9r?—45r+56

9v? — 18v

3 2
T 36y (18v3 +36v?)

13)

58> —23a—42
25a+ 35

25a-50

15 .
) 50a’ — 100a?

7v:—28v-35  35v+35
7v—10 " 14v3 —20v?

17)

9x% — 18x
16 — 12x — 4x>

19) (4x2 + 12x - 16)

5p?+24p+27  20p*-60p
3p? 10p? — 12p - 54

21)

LT wsgsgs ath-vsorlsheel ory

Name

ID: 8

Date Period

n+7 10n?> —3n-27
10n>=3n-27 n*>-3n-40

2)

3k—6 4k + 28
7k +42k> 12k —24

4)

4 2n*-8n
45n+90 ~ 10n? +20n

6)

2m-8  7m’—52m+21
1om® —40m*> = 14m-6

8)

—14x* +41x-30  7x—10
~10x> +25x— 15~ 5%* =5

10)

2b 2b% -27b + 81

12) — Sl
302 +5b— 12~ 6b% - 350 +36

9-2n  10n® —45n
4n+20  5n®-15n

14)

14%% + 42X +28  7X> + 64X + 64

16) 3 . 3
TX*—42Xx —49  14x° +44x + 32

12x3 —12x*  12x% - 12%°
18) +
X+7 56

3n1-9  5n°-n-6

20) + 5
Sn+7 25n“+5n-42

X + 72 6x — 30
14x3 — 70x> 3

22)

math-worksheet.org



35k — 28 2k — 18 20) on®—15n-24 15n+15
2 5k* + 26k — 24 24n-64  8n+72

23)

A, dagsgs . mabh-verksheeb.org

math-worksheet.org



1) a-4

5)

5
2x?
2

9) =
n

13) 9v3(v —2)

17
) 5

10(p +3)

21
) 3p

W2l gegsgs math-veerhsheet.oryg

2v3(v - 5)

Answers to Assignment (I1D: 8)

2) n+7
4

©) 9(n—4)

10) x+1

(n-3)
4(n +5)
56
X+7
9(x + 8)
7x?

14) —

18) -

22)

(n+5)(n-8)

3) —6x*

p+4
5
6(r + 2)
r-3
a-=6
10a’
19) -9x(x - 2)

7)
11) -

15)

7(k —9)

23)
k+6

k+7
K 7k*(k + 6)
5m?(m - 7)
2b
(b+3)(b-9)
X+8
X—7
3(n—3)
n+1
n+9

12)

16)

20)

24)
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Assignment
Simplify each expression.

6x* — 16X 6x” — 16X

1) =
35x—30  63x-—54
3 49n +63  16n* —56n
16n% — 56n n+9
5) 5v2 —16v—45 27V +27v
45v% + 81v 3V +3
7 2X+7 _ 6X + 18
42 +6Xx—28  2x2—20x +32
9) 21a’ - 70a® 14a - 21
21a-70 2a’+7a-15
1) 15p+21 3p*+3p-18
5p+7  3p*-9p+6
40 —16n  10n* — 60n
13) +
14n — 35 7
4x — 12 45X + 63
15) 5 .
10x> — 16X — 42 2
16b* — 56b 5
17) >+
56b — 16b>  5b+20
2vZ —17v + 21 5V+6
19) — F—
S5ve+46v+48 2v-—-v-3
5v2—27v—18  25v? —20v-21
21) :

2W+10 10V +36v—70

LT wsgsgs ath-vsorlsheel ory

Name

ID: 9

Date Period

r—7  14r-14
Ir—42  Tr—42

2)

6m—18  12m- 54
6m*+6m?>  2m-9

3b2+4b—-7 42b>+18b
7b +3 24b? + 56b

6)

3n—4 8n? —20n°

8) +—
12n-16 5n“+8n-4

3k—2  5k*+23k+12
30k—20 25k + 15k’

10)

3% +33x+30  21x>—61x+28
15x + 15 21x*> +61x—28

12)

12r-12 18
2102 —3r—18  7r+6

14)

6-6m  9m’+21m-30
63m+63  21m*+91m+ 70

16)

2n? +21n+ 54 9n
2n?>+3n-27 9n% —45n

18)

8x -4 ) & -4
X+9 18

20)

10a® —40a—50 15a+ 15
4a-20  2a-20

22)
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2x° - 10x 1 20) 45n—63  4n*+6n
Ox%> — 48X+ 63 9x> — 48X + 63 18n+27 5n° +38n—63
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13) - 5n(n —6)

17) —(b+4)

21) v—-6
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Answers to Assignment (I1D: 9)

3(b-1)
4
k2
10 2(k + 4)

2
14) =
)

6)

6
18) n+

a-10

22)

(n-3)(n-5)

3) 7

X—38
6(x +3)
3(p-1)

p+3
15) 9

7)

11)

-7
19)

23) 2x(x - 5)

(v+8)(v+1)
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Assignment
Simplify each expression.

35x° +35x°
1) (7% +56x%) + ———
15x+ 15
7n+10 27n° — 54n?
6n—12  63n+90

3)

7p*-19p-6
35p* —25p—-10

5) (5p +45p —50) -

30 — 15m — 15m? 81

7) :
12m—-12 S5m+ 10
9) 7x? = 52X +21  45%x—63
40x> — 56X X -3
6n* +39n+54 9n+90
11) — .
2n“ —3n—-54 3n+6
18x — 54 Tx+7
13) o+ 5
45x — 15x 35x° + 35x
16a° — 64a? 6a—24
15) 5 +—
8a a‘+12a+ 32
17) 35%° +45x  63X° + 27X
49X +63  TX+3
15n -3 6n° -6
19) : .
15n“+12n-3 2n-2
5m? +34m+45  5m?> —41m—-90
21) :

sm2+36m+36  5m+6

LT wsgsgs ath-vsorlsheel ory

ID: 10
Name

Date Period

35k +49  25k% +45k+ 14
5k*—25k  25k* + 10k

2)

10-7x  3x*>+23x+ 14
8x% + 64x  21x* —16x 20

4)

3n+12 . 5n+6
N+63  35n+42

6)

21 2r-2
70r> +30r  14r> —8r—6

8)

18v + 18 8
14v? + 14v  9v—18

10)

2b—7 2b% +3b-20
2b%>+9b-35 28-b-2b?

12)

8n — 12n? 10

14) .
9N—-6  10n+20
k-2 —14k? + 68k — 48
16) 3 -
14k® — 56k 54 — 63k

18) 5p°—19p-30 7p®+62p—80
50p+60 Tp-8
2n* —4n 2n* +18n-20
9 4n% — 4n

20)

15b+15 10
50b +50 16b°

22)
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8x> +56x>  18x> — 18x? 9r3 + 18r? 63r> — 4512
2 ) 24) 3 2 2
8X 3Xx° —24x+21 40r° — 16r 35r--=39r+ 10

23)
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Answers to Assignment (ID: 10)

1) 3(x +8) 1 n® (x+7)
s 35 4)_8x(x+8)
5) (p—3)(p+10) 6) 3(n+4) 7y 81 g 21
n+9 4 10
9(x - 7) 8 9(n + 10) 1
) 8x 10) 7v(v —2) 1) n-6 12) - b+7
13) -6 4n (a+4)(a+8) k-2
1) - 3(n+2) 15) 3 19 63
17) 5 18) P~ 5 19) 3 20) (n—2)(n+ 10)
63 10(p + 10) 9
m+5 3 6x2(x +7) r+2
2) (m + 6)(m - 10) 22) 16b %) X—7 24) 8r?

'ﬂ@ B
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